Machine voet 60010030 55,3 x 55,3 x 41 - 40 Shore A

https://www.nexaparts.nl/machine-voet-60010030-55.3-x-55.3-x-41-40-shore-a

Specificaties

Productnummer

EAN

Merk
Categorie
afmeting
Materiaal
Kleur

Style

model
Diepte/lengte
Breedte
Hoogte

Kleur

Kleur

Model
Schroefdraad
Afmeting
Materiaal
Hardheid

Pluspunten

+ Hoogwaardig Natuurrubber
+ Metaaldelen (ST-37) verzinkt

+ Zeer hoogwaardige kwaliteit

6001003044
7442957594561
NexaParts

Machine voeten

M10X21,5 55,3 x 55,3 x 41
Metaal verzinkt /NR

Zwart

M10X21,5 55,3 x 55,3 x 41 - 40 Shore A
Machine voet Rond

5.53

5.53

4.10

Zwart

Grijs

Machine voet Rond
M10X21,5

M10X21,5 55,3 x 55,3 x 41
Metaal verzinkt /NR

40 shore A

NexaParts B.V.
Duurzaamheidstraat 33
8094SC, Hattemerbroek

E-MAIL info@nexaparts.nl
TEL +31 38 2024038
KVK 87151227


https://www.nexaparts.nl/machine-voet-60010030-55.3-x-55.3-x-41-40-shore-a

